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=

Off &t 24

698,432

93,496

93,496

93,496
48,936
3,696
3,696

Ol &b A

Al

10

0
)

0l
<

ol

01 SLHOYI

202 o4 Hl

K

- 327 -




>
N & 0l & Av S Z M A
20219 = =3 1 3] LESH A ~ AAMH
2N B
H: HH2IAH(HSH)

& 123l (Sl & &)
SA-EY.B(BH) - PN - BES 0] &b 2 p/E-T HI RS2

ERgsil 488,583 489,519 A 036
HYR2IZH (FSH) 57,624 58,560 A 936
Jl2&dl 57,624 58,560 A 936
FSH Jl23Y| 57,624 58,560 A 936
202 044l 29,064 30,000 A 936
01 SLHOYI 2,184 3,120 A 936
OgHE g2=a 2,184 3,120 A 036
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>
N & 0l & Av S Z M A
20219 = =3 1 3] LESH A ~ AAMH
N 2
H: HH2IAH(22H)

Sl 2= EERED
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HI RS2

2ad 499,881 501,273 A 1,392
HY2IZH (2LH) 71,088 72,480 A 1,392
Jl2&dl 71,088 72,480 21,392
=2¢H Jl2Zl 71,088 72,480 A 1,392
202 044l 37,728 39,120 A 1,392
01 SLHOYI 2,688 4,080 21,392
OgHE g2=a 2,688 4,080 21,392
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N = 0l & At & Ml A

221G £ 13 LBEH YA ~ XA
SM: A
Hu: AEO HOKX WEHD 75
AT BENYA 23 2 ERA)
SA - BAEN) - NRAY - LS 2t
AlE e 371,181 376,537 A5,356
NEH HOXZK UEAT 2S 312,717 317,137 A 4,420
AT BEMHIA 23 312,717 317,137 A 4,420
Zolme MEHF HA 52,259 48,259 4,000
101 124 Hl 28,579 26,579 2,000
M4IRH2RISES 28,579 26,579 2,000
OOISCI2 FBEH 22| 2,000 0 2,000
206 T2 4l 17,000 15,000 2,000
01 HE Yl 17,000 15,000 2,000
OOtSCIE FBEH ME 7Y 2,000 0 2,000
nessy 29 40,160 48,580 A8,420
101 21218l 11,372 16,952 A5,580
YN EEN TS 11,372 16,952 A5,580
Oxe=ssg el axe
(69, 76021 +202 *12§ *6 )+3,000, 0002 11,372 16,952 A5,580
201 LBr2 Y| 28,788 31,628 A2,840
01 AL 2rel bl 8,159 10,999 A2,840
Ox2=8e ¥4 U AS 3550008 62 *23] 4,260 7,100 ~2,840
BHSHAY (MH) 58,464 59,400 936
o=l 58,464 59,400 936
AZE Jl=A 58,464 59,400 £936
202 01 bl 29,064 30,000 £936
01 2016l 2,184 3,120 936
ONE 2= 2,184 3,120 £936
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N & 0l & Av S Z M A
20219 = =3 1 3] LESH A ~ AAMH
SN g
M dHH H0HAX WEHKHIT ==
Sol: M40 BIMHIA 2 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
g+ 337,772 340,482 A2,710
A0 FUHAUX WEHNID = 281,162 281,922 AT60
d+0 dIZ M A 25 281,162 281,922 AT760
FOIEO MEEHH A 64,152 64,912 AT760
101 @14l 33,272 39,032 A5,760
04 JI2ZtHZ22HEE =+ 33,272 39,032 A5,760
OZAIJIAl &3 3d 2 0 5,760 A5,760
206 M= Hl 13,000 8,000 5,000
01 M= 4l 13,000 8,000 5,000
OAIJIAI 2228 Mz 7¢ 13,000 8,000 5,000
HY2FZH (d42H) 56,610 58,560 A1,950
Jl= &l 56,610 58,560 A 1,950
g8 Jl=dl 56,610 58,560 A 1,950
202 o4 Hl 28,050 30,000 A 1,950
01 = LH 4 Hi 1,170 3,120 A 1,950
ooy gR=d 90,000& 13X 1,170 3,120 A 1,950
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N & o & AF & H Al A
20219 =& 1 3 LetslH dAg ~ XAH
2MH 243
M HH2IZH(2+H)
¢l =gl (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
0 623,944 626,248 22,304
HYR2IZH (D) 75,096 77,400 22,304
Jl23l 75,096 77,400 22,304
M J|23H| 75,096 77,400 A 2,304
201 L2l 23,620 24,700 A 1,080
01 At 22l 19,620 20,700 A 1,080
OgE g2xd 14,688 15,552 A 864
OHE ARF=X(SHl) 3,672 3,888 A216
202 o4dl 37,896 39,120 N1,224
01 = LH o4 1l 2,856 4,080 AN1,224
Ogd gexx 2,856 4,080 N1,224
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N & 0l & Av S Z M A
P021EE £ 18 YWEH YAS ~ KA
SN Me
HH: HHSYHU (M)
el =P CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
AEH 318,112 319,048 A 036
HY I (AEH) 54,624 55,560 A 936
Jl2&dl 54,624 55,560 A 936
AEH J2Z3l 54,624 55,560 A 936
202 044l 29,064 30,000 A 936
01 SLHOYI 2,184 3,120 A 936
OgHE g2=a 2,184 3,120 A 036
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N & 0l & Av S Z M A
PO2IHE = 13 YN YAS ~ XA
el
A8 BOXX WEAD 25
Ao BEANHIA 2 E CREED
CHB . BLA(BH) - NRAY - BHES 0l & o p/E-F 2

309,447 305,684 3,763
0N UEHND 75 251,823 247,124 4,699
o MIHAMHIA P 251,823 247,124 4,699
BNHIA 222y 77,274 74,274 3,000
201 Yot Fh| 72,774 69,774 3,000
02 B2l 61,774 58,774 3,000
ORIRQIE SHEA 22 3,000 0 3,000
QB MEEHY N 29,549 27,850 1,699
101 2121l 16,349 14,650 1,699
04JIAH22RNSES 6,349 14,650 1,699

OBTNE(USH4T, TEHIA, 3L
P E X 69, 76021 1% *43| +1 3,349 1,650 1,699
HHSHAY (M) 57,624 58,560 £936
2l 57,624 58,560 ~936
e ol Bl 57,624 58,560 £936
202 01t 29,064 30,000 ~936
01 2Lhol bl 2,184 3,120 £936
OPIE 2= 2,184 3,120 £936




N = 0l & At & Ml A
P021HE £ 135 YN AAS ~ XA
SN BES
HE: BEM HONK UEAD 25
Sl BEE BHAHA L3 CERED
SA - BAEN) - NRAY - LS 0l &F 24 o1E o HRE2
2HEH 489,591 489,591 0
2EH FUHIX UWERKID 2S5 415,571 412,171 3,400
2HEH HAIMHIA 25 415,571 412,171 3,400
FOIEO MEEHH A 82,500 79,100 3,400
206 M= Hl 48,400 45,000 3,400
01 MHZ 4l 48,400 45,000 3,400
OOISCie el FREL WE 7Y
43,400,000& 1 43,400 40,000 3,400
HH2IAH(2EH) 74,020 77,420 A 3,400
JlEZdl 74,020 77,420 A 3,400
2HEH Jl=Z 74,020 77,420 23,400
202 Oddl 35,720 39,120 A 3,400
01 = LH 4 Hi 680 4,080 A 3,400
oy gR=d 40,000 17 680 4,080 A 3,400

- 335 -



=
H & 0 & AF Y H A A
20218 =F 1 3 LE3H LAF ~ XAH
2M: 2XH
M HE2YFH(ZTH)
o2l I3l (chel & 9l)
SAH M -H2A () - MEAY - BES Ol A o4 Iy Hws2
28 H 406,452 407,388 A 936
HHSIHY(FEH) 59,744 60,680 936
234l 59,744 60,680 A 936
2&H JI2E| 59,744 60,680 A 936
202 O B 29,064 30,000 A 936
01 =LH 04 HI 2,184 3,120 A 936
OHE d2FA 2,184 3,120 936
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>
A & 0l & A & F Al
20219 = =3 1 3] LESH A ~ AAMH
SN RS
M HH2IZH(AXH)

9l Il CREED
SN FH-SA(EN) - MBAY - BES 0] &b 2 2t

gXe 314,810 315,746 A 036
HY2IZH (DXH) 57,624 58,560 A 936
Jl2&dl 57,624 58,560 A 936
SXH J2& bl 57,624 58,560 A 936
202 044l 29,064 30,000 A 936
01 = LH o4 1l 2,184 3,120 A 936
OgHE g2=a 2,184 3,120 A 036
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N = 0l & At & Ml A

M XIAH
FH: HE2AZH (RIALH)
& 123l (&)
SN HH - (EH) - HRAY - BES 0l & p/E-T Hl DS 2
K AHSH 308,552 309,488 A 936
HY2HZH (KAL) 57,624 58,560 A 936
Jl2&dl 57,624 58,560 A 936
X AHH D123 HI 57,624 58,560 A 936
202 044l 29,064 30,000 A 936
01 = LH o4 1l 2,184 3,120 A 936
OgHE g2=a 2,184 3,120 A 936

- 338 -




